

Exercice Dg. 1
181 Etaloolet

classical trig.

11/11/2018 4.

a) $dy = 2\sin x - y \tan x$
 dx

$dy + y \tan x = 2\sin x$
 dx

$P = \tan x \quad Q = 2\sin x$

$\int P dx = \int \tan x dx = \int \frac{\sin x}{\cos x} dx = -\ln |\cos x|$

$\cos x = u$

$\int \frac{\sin x}{\cos x} dx = -\ln |u|$

$u = \cos x$

$\frac{dy}{dx} = \sin x \quad dx \times \frac{dy}{dx} = \sin x dx$

$\int \frac{\sin x}{\cos x} dx = -\ln |\cos x| + C$

$\int \frac{\sin x}{\cos x} dx = -\ln |\cos x|$

$\int \frac{\sin x}{\cos x} dx = -\ln |\cos x|$

Then $y \cdot \int P dx = \int Q \cdot \int P dx$

$y \cdot \cos x = \int 2 \sin x \cdot (-\ln |\cos x|) dx$

and $2 \sin x \cos x = \sin(2x)$

$2 \sin x \cos x = \sin(2x)$

$y \cdot \cos x = \int \sin(2x) dx$

$y \cdot \cos x = \frac{1}{2} \cdot \cos(2x) + C$

$\cos x \cdot y = \frac{\cos(2x)}{2} + C$

$y = \frac{\cos(2x)}{2} + C$

$\cos x$

$y = \frac{\cos(2x)}{2} + \frac{C}{\cos x}$

$\cos x$

let $z = x$

$y = \cos(2x) + 1$

b) $dy + 2y = e^{5x}$
 dx

$P = 2 \quad Q = e^{5x}$

$\int P dx = \int 2 dx = 2x$

$\int Q dx = \int e^{5x} dx = \frac{1}{5} e^{5x}$

$y \cdot e^{2x} = \int 2 \sin x \cdot e^{2x} dx$

$y \cdot e^{2x} = \int 2 \sin x \cdot e^{2x} dx$

$y \cdot e^{2x} = \frac{1}{5} e^{5x} + C$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = -2y^{-3} \frac{dy}{dx} = -2(3)$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$\frac{dy}{dx} = x \sin 3x + \frac{1}{x^2}$

$$1 + v^2 = A(v-1)(v+1) + B(v)(v-1) + C(v)(v+1)$$

$$v=1 \quad \therefore 1 + 1^2 = B(1)(2)$$

$$2 = B(2)$$

$$\therefore B = 1$$

$$v = -1$$

$$1 + (-1)^2 = C(-1)(-1-1)$$

$$2 = 2C \quad \therefore C = 1$$

$$v = 0$$

$$1 + 0^2 = A(0-1)(0+1)$$

$$1 = A(-1)(1)$$

$$1 = A(-1) \quad \therefore A = -1$$

$$\int \left[\frac{-1}{v} + \frac{1}{v-1} + \frac{1}{v+1} \right] dv = \int \frac{dx}{x}$$

$$\int \frac{-1}{v} dv + \int \frac{1}{v-1} dv + \int \frac{1}{v+1} dv = \int \frac{1}{x} dx$$

$$-\ln v + \ln(v-1) + \ln(v+1) = \ln x + C$$

$$\ln(v-1)(v+1) - \ln v = \ln x + \ln A$$

$$\frac{v^2 - 1}{v} = Ax$$

$$y = vx \quad \therefore v = \frac{y}{x}$$

$$\frac{\left(\frac{y}{x}\right)^2 - 1}{y/x} = Ax$$

$$\frac{y^2}{x^2} - 1 = Ax \cdot \frac{y}{x}$$

$$\frac{y^2}{x^2} - 1 = Ay$$

$$\frac{y^2 - x^2}{x^2} = Ay$$

$$y^2 - x^2 = Ayx^2$$

$$y^2 = Ax^2y + x^2$$

$$\frac{y^2}{x^2} = A$$

$$y^2 = x^2(Ay + 1)$$